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1. If 7 be added to the sum of the digits of a
certain number consisting of two digits, the
result will be three times the number in the
ten's place. But if 18 be substracted from the
number, the digits wil be interchanged. Find

the numbers.

o Watch Video Solution

2. If 2 be added to the sum of the digits of a

certain number consisting of two digits, the
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result will be two times the number in ten's
place. But if 18 be subtracted from the
number, the digits will be interchanged. Find

the number.

o Watch Video Solution

3.If 4 be added with four times of the digit of
the unit place of a certain number consisting
of two digits, the result will be two times of

the sum of the digits. But if 18 be subtracted
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from the number, the digit will be

interchanged. Find the number.

° Watch Video Solution

4. Find the value of k for which the pair of
linear equation kx+3y=k—-2 and

12z + ky = k has no solution.

° Watch Video Solution
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1. Form the equation from the folllowing:

The sum of the digit number is 12. If the
position of thee two digitss are interchanged,
th number so formed is smaller than the

original number by 18. Find the number.

o Watch Video Solution

2. Form the equation from the folllowing:
In an examination 41 students out of 68 were

passed. If 5 boys out of 8 and 7 girls out of 12
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come out successful then find thw number of

boys and girls.

° Watch Video Solution

3. Form the equation from the folllowing:

The difference between two number is 53. By
dividing the greater number by the smaller
one we get 5 as quotient and 5 as remainder.

Find the two numbers.

° Watch Video Solution
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4. Form the equation from the folllowing:
The age of A is twice that of B. 8 years hence
their age will be in ratio 7:4. Find their

present age.

o Watch Video Solution

5. Form the equation from the folllowing:

The sum of the father's age and two times the
son's age is 70 years. Also the sum of the son's
age and two times father's age is 95 years.

Find the age of father and son.


https://dl.doubtnut.com/l/_bP14oqJr35AC
https://dl.doubtnut.com/l/_1kzV28e0MGNs

° Watch Video Solution

6. Form the equation from the folllowing:
The difference between length and breadth of
a room is 3m and its area is 270 Sq.m. Find the

length and breadth of the room.

o Watch Video Solution

7. By graphical method find weather the

following pair of equations are consistent or
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not. If consistent, solve

x+y=33r+3y=9

° Watch Video Solution

8. By graphical method find weather the
following pair of equations are consistent or
not. If consistent, solve

x—2y= —3,2x+y=14

o Watch Video Solution
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9. By graphical method find weather the
following pair of equations are consistent or
not. If consistent, solve

x—y=14x -4y =14

o Watch Video Solution

10. By graphical method find weather the
following pair of equations are consistent or
not. If consistent, solve

2z + 4y = 10, 3z + 6y = 12

| & I
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| ¥ Watch Video Solution |

11. Draw the graph of the following equation
and determine the vertices of the triangle
formed ny the lines with y-axis.

x—y=12x + 3y =12

o Watch Video Solution

12. Draw the graph of the following equation

and determine the vertices of the triangle
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formed by the lines with y-axis.

3r+y—5=0,2z —y—5=0

° Watch Video Solution

13. Draw the graph of the following equation
and determine the vertices of the triangle
formed by the lines with y-axis.

2r —y =1, + 2y = 13

o Watch Video Solution
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14. Draw the graph of the following equation
and determine the vertices of the triangle.

y=z,y=2z,z+y=26

o Watch Video Solution

15. Draw the graph of the following equation
and determine the vertices of the triangle.

x—y+1=0,3z+2y—12=0,y=0

o Watch Video Solution
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16. For what value of p, the following system of
linear equation has no solution.

pr+3y=p—2,12x +py=p

o Watch Video Solution

17. For what value of p, the following system of
linear equation has no solution.

r+2y=295,3xr +py= —15

o Watch Video Solution
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18. For what value of p, the following system of
linear equation has no solution.

2¢ +py=1,3z — by =7

o Watch Video Solution

19. For what value of p, the following system of
linear equation has infintely many solution.

2c +3y=2,(p+2)z+ (2p+ 1)y =2(p—1)

o Watch Video Solution
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20. For what value of p, the following system
of linear equation has infintely many solution.

2c +3y="T,(p+)z+2p—1Ny=4p+1

o Watch Video Solution

21. For what value of p, the following system of

linear equation has infintely many solution.

p-—1z—-y=5@E+)z+(1-py=3p+1

o Watch Video Solution
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22. Find the values of a and b for which the
following system of linear equation has

infinitely many solutions.

2c — (24 +5)y=5,(2b+ 1) — 9y =15

o Watch Video Solution

23. Find the values of a and b for which the
following system of linear equation has

infinitely many solutions.

(2a —1)x —3y=5,3x+ (b —2)y =3

o Watch Video Solution
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24. Find the values of a and b for which the
following system of linear equation has

infinitely many solutions.

(a—1)z+3y=2,6x+ (1—2b)y==56

° Watch Video Solution
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